Y2 - Autumn - Block 1 - Step 6 - Compare objects Answers

Question Answer

a) 4 teddies

b) 10 cakes

c) 5fingers

d) 8 counters

e) 6 on the dice

f) 1ten

a) The children will represent 16 and 12 pictorially to show 16 is greater.

b) The children will represent 11 and 21 pictorially to show 11 is smaller.

c) The children will represent 18 pictorially and 1 ten and 9 ones, to show 18 is smaller
a) =

b) >

c) <

d) <

Amir has fewer cookies than Alex.

Amir only has one tin of 10 cookies, and 8 ones. Alex has two tens and 3 ones, which is
more.

The children should discuss that they disagree with Mo, because 9 ones is smaller than 1 ten.
So 3 tens and 9 ones is smaller than 4 tens.




